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QUESTION 1

Joan is adding functionality to a traditional web application her company uses. She would like to use the NotesDatabase
JavaScript class to access data from another database on her web page. What does Joan need to do to be able to use
this class on her web page? 

A. In the JS Header of the page, Joan must insert the JavaScript class as a resource. 

B. Joan needs to enable the \\'Use JavaScript when generating pages\\' database property. 

C. The class is available by default so Joan doesn\\'t need to perform any additional steps. 

D. Joan cannot use this class since it\\'s server-side JavaScript which can only be used on XPages. 

Correct Answer: D 

 

QUESTION 2

What are two benefits of streaming replication? (Select 2) 

A. partial replication 

B. replication history is more verbose 

C. replication becomes a priority server task 

D. replication of the smallest documents first 

E. pop-up notice that replication has completed 

Correct Answer: CD 

Reference: http://www.ibm.com/developerworks/lotus/library/local-mail-replicas/ (see streaming replication) 

 

QUESTION 3

In what way are an Accordion Container, a Stack Container and a Tab Container all similar? 

A. Each contains a single pane split into multiple frames. 

B. Each contains multiple panes displayed in a grid pattern. 

C. Each contains a single pane with dynamically changing content. 

D. Each contains multiple panes and only displays one pane at a time. 

Correct Answer: D 

 

QUESTION 4
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When a Link Core Control is set to the Open Page type, what can it point to? 

A. a URL for a web page 

B. a Page design element 

C. an XPage design element 

D. an Include Page Container Control 

Correct Answer: C 

 

QUESTION 5

One of Bob\\'s users is complaining he does not see an option to create a new copy of an application. What could
prevent the user from seeing this option? 

A. The Advanced Menus toolbar has been removed by the user. 

B. Advanced Menus are only available in the IBM Domino Administrator client. 

C. Bob has not enabled Advanced Menus in the server configuration document. 

D. The user\\'s IBM Notes client does not have the Advanced Menus option enabled. 

Correct Answer: D 
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